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1101[XK1E EE 30 300 0 300 10 0 0 0 1404 0 972
EE 100 1500 0 1500 15 0 0 0 1026 0 702
GhH 130 1800 0 1800
1103 A 3D mE 30 300 0 300 10 0 0 0 1944 0 1296
GhH 30 300 0 300
1113|FEAS & 158 1580 0 1580
1141[54R BmE 8 40 0 40 5 0 0 0 3240 0 2160
& 8 40 0 40
1201|H % T 40 600 0 600 15 0 0 0 3780 0 2700
EE 22 330 0 330 15 0 0 0 0 2916 0
(&) 107 1545 0 1545
1203 ¥Ry [EHN 230 2300 0 2300 10 0 0 0 2484 0 1944
RE 25 250 0 250 10 0 0 0 2052 0 1512
& 343 3870 0 3870
1205[[FSNAE [EE 739 296 296 0 0.4 184 0 108 0 0 0
12 hel 540 108 0 108 0.2 0 0 0 0 135 0
(&) 1279 404 296 108
1207| B & EE 900 90 90 0 0.1 92 0 70 0 0 0
(&) 900 90 90 0
1209| 5% B 10 30 0 30 3 0 0 0 0 1836 0
(&) 10 30 0 30
1223| &% EE 480 144 144 0 0.3 146 0 103 0 0 0
GhH 530 154 144 10
1301[#aF S 10 20 0 20 2 0 0 0 1242 0 1188
= E 1000 300 0 300 0.3 0 0 0 140 0 130
=5 32 160 0 160 5 0 0 0 0 2160 0
(&) 1042 480 0 480
1311[FRE X 30 120 0 120 4 0 0 0 0 1404 0
GhH 30 120 0 120
1321 [HR S 86 430 0 430 5 0 0 0 2646 0 2484
= 120 600 0 600 5 0 0 0 2592 0 2484
=ik 30 150 0 150 5 0 0 0 0 2592 0
(&) 236 1180 0 1180
1403| e T oL 30 60 0 60 2 0 0 0 2160 0 1944
(&) 30 60 0 60
1407 | EBia F0FRLL 1 1 0 1 1.3 0 0 0 0 983 0
L 1 1 0 1 14 0 0 0 0 756 0
el 20 40 0 40 2 0 0 0 2160 0 1512
L 1 2 0 2 2.4 0 0 0 0 2160 0
Eh 23 45 0 45
1501 | H & =) 3 15 0 15 5 0 0 0 1296 0 864
Eh 233 1165 0 1165
1521 |83 ZiE 5 50 0 50 10 0 0 0 0 5724 0
Eh 5 50 0 50
1541 | E& dLiEE 255 5100 0 5100 20 0 0 0 0 1717 0
Gh 257 5140 0 5140
1603[ )L —  [E%M@E 2 20 0 20 10 0 0 0 0 3888 0
Gh 2 20 0 20
1609[Z7aval)  [&FJ 25 150 0 150 6 0 0 0 5076 0 4860
Gh 25 150 0 150
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1611[LER B 5 50 0 50 10 0 0 0 4104 0 3888
fahel 5 25 0 25 5 0 0 0 2484 0 1728
(&) 10 75 0 75
1627[S=Fr<F__ [FJI 60 12 0 12 0.2 0 0 0 0 194 0
BEX 21 63 0 63 3 0 0 0 0 2376 0
& 282 110 0 110
1705| T A= =0 540 43 0 43 0.08 0 0 0 119 0 108
=0 3 12 0 12 4 0 0 0 0 5616 0
(&) 547 A 0 71
1803 | E mE 150 15 0 15 0.1 0 0 0 0 141 0
=) 180 36 0 36 0.2 0 0 0 260 0 66
& 1050 123 0 123
1807 |#B f=554 150 15 0 15 0.1 0 0 0 0 48 0
EF 3150 630 0 630 0.2 0 0 0 85 0 72
f=154 150 45 0 45 0.3 0 0 0 0 110 0
Eh 3450 690 0 690
1809[L&L EH 250 25 0 25 0.1 0 0 0 0 67 0
E% 1680 336 0 336 0.2 0 0 0 113 0 102
(&) 1930 361 0 361
* S FAET * 23796 34468 1059 33409
2811 | & fa 10 3 0 3 0.25 0 0 0 0 875 0
Rl 20 5 0 5 0.25 0 0 0 0 518 0
EES 200 50 0 50 0.25 0 0 0 0 529 0
Eh 230 58 0 58
* EEET * 460 115 0 115




